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%HUGDVDUNDQ�KDVLO�SHQHOLWLDQ�GDQ�SHPEDKDVDQ�\DQJ� WHODK�GLMDEDUNDQ�SDGD�

EDE�VHEHOXPQ\D��PDND�GLGDSDWNDQ�NHVLPSXODQ�VHEDJDL�EHULNXW�

�� 0RGHO� SHPEHODMDUDQ� LQWHJUDVL� WHRUL� EHODMDU� NRJQLWLYLVPH� GDQ�

NRQVWUXNWLYLVPH�GLEXDW�EHUGDVDUNDQ�GXD�IDVH�GLDQWDUDQ\D�IDVH�NRJQLWLI�GDQ�

IDVH� NRQVWUXNWLI�� 6HODLQ� LWX� GLNDLWNDQ� GHQJDQ� NHPDPSXDQ� EHUSLNLU� NULWLV�

0RGHO�LQL�GLLQWHJUDVLNDQ�XQWXN�PHPEHULNDQ�VROXVL�PHQLQJNDWNDQ�NXDOLWDV�

SHQGLGLNDQ�

�� 0RGHO� SHPEHODMDUDQ� LQWHJUDVL� WHRUL� EHODMDU� NRJQLWLYLVPH� GDQ�

NRQVWUXNWLYLVPH GLQ\DWDNDQ� YDOLG GLJXQDNDQ� EHUGDVDUNDQ� XML� YDOLGLWDV

EHUVDPD�NHWLJD�SDUD�DKOL GHQJDQ�NULWHULD�XML�NXDW� %HVHUWD�XML�HPSLULV�GHQJDQ�

PHODNXNDQ� XML� FRED� PDND� GLGDSDWNDQ� KDVLO� \DQJ� VDPD� \DLWX� OD\DN�

GLJXQDNDQ�� $UWLQ\D�PRGHO� \DQJ� WHODK� GLUDQFDQJ� WHODK PHPHQXKL NULWHULD�

YDOLGLWDV�GDQ�GDSDW�GLJXQDNDQ�XQWXN�SHQHOLWLDQ�NHGHSDQQ\D�

�� 3HQHUDSDQ PRGHO� SHPEHODMDUDQ� LQWHJUDVL� WHRUL� EHODMDU� NRJQLWLYLVPH� GDQ�

NRQVWUXNWLYLVPH�WHUKDGDS�NHPDPSXDQ�EHUSLNLU�NULWLV EHUODQJVXQJ�VHODPD���

SHUWHPXDQ� GHQJDQ� PHQJJXQDNDQ� GXD� IDVH� \DLWX� NRJQLWLI� GDQ�

NRQVWUXNWLYLVPH�� � <DQJ� KDVLOQ\D� EHUDJDP� WHUJDQWXQJ� EDJDLPDQD� VLVZD�

PHQDQJJDSLQ\D�� 1DPXQ�� VHFDUD� NHVHOXUXKDQ� PHQJDODPL� SHQLQJNDWDQ�

SHPEHODMDUDQ�

�� (IHNWLYLWDV� PRGHO� SHPEHODMDUDQ� LQWHJUDVL� WHRUL� EHODMDU� NRJQLWLYLVPH� GDQ�

NRQVWUXNWLYLVPH�WHUKDGDS�NHPDPSXDQ�EHUSLNLU�NULWLV SDGD�PDWHUL�SHUDQJNDW�

OXQDN� SHQJRODK� SUHVHQWDVL EHUQLODL� VLJQLILNDQ GHQJDQ� QLODL� ������� +DO�

WHUVHEXW�GDSDW�GLOLKDW�PHODOXL�KDVLO�8ML�7�GHQJDQ�WDUDI�VLJQLILNDQ�3�������� �

VLJQLILNDQ�

���� ,PSOLNDVL

%HUGDVDUNDQ� NHVLPSXODQ� GL� DWDV� WHUGDSDW� EHEHUDSD� KDO� \DQJ� GLKDUDSNDQ�

GDSDW�GLLPSOLNDVLNDQ�GDODP�SHPEHODMDUDQ�GDQ�NHJLDWDQ�OLWHUDVL�EDFD�WXOLV�SDGD�

PDWHUL�SHQJRODKDQ�GDWD��KDVLO�LQL�GDSDW�EHULPSOLNDVL�VHFDUD�WHRULWLV�GDQ�SUDNWLV
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�� ,PSOLNDVL�7HRULWLV

6HFDUD�WHRULWLV�SHQHOLWLDQ�LQL�PHPEHULNDQ�EXNWL�WHQWDQJ�NHHIHNWLIDQ�PRGHO�

LQWHJUDVL� WHRUL� EHODMDU� NRJQLWLYLVPH� GDQ� NRQVWUXNWLYLVPH� WHUKDGDS�

NHPDPSXDQ� EHUSLNLU� NULWLV� GDODP� PDWHUL� SHUDQJNDW� OXQDN� SHQJRODK�

SUHVHQWDVL��SRZHUSRLQW��VLVZD�NHODV�;,�

�� ,PSOLNDVL�3UDNWLV

6HFDUD�SUDNWLV��KDVLO�SHQHOLWLDQ�LQL�PHPEHULNDQ�EXNWL�EDKZD�PRGHO�LQWHJUDVL�

WHRUL� EHODMDU� NRJQLWLYLVPH� GDQ� NRQVWUXNWLYLVPH� FXNXS� HIHNWLI� GDODP�

PHQLQJNDWDQ�NHPDPSXDQ�WHUKDGDS�NHPDPSXDQ�EHUSLNLU�NULWLV�GDODP�PDWHUL�

SHUDQJNDW�OXQDN�SHQJRODK�SUHVHQWDVL��SRZHUSRLQW��VLVZD�NHODV�;,�

���� 5HNRPHQGDVL

%HUGDVDUNDQ� NHVLPSXODQ� GDQ� LPSOLNDVL� \DQJ� WHODK� GLSDSDUNDQ� VHEHOXPQ\D��

GDSDW�GLVDUDQNDQ�EHEHUDSD�KDO�VHEDJDL�EHULNXW�

�� 3HPEHODMDUDQ�PDWHUL�SRZHUSRLQW DWDXSXQ�PDWHUL�ODLQ�KHQGDNQ\D�GLODNXNDQ�

GHQJDQ� EHUEDJDL� PRGHO�� SHQGHNDWDQ� GDQ� PHGLD� \DQJ� EHUYDULDVL� VHUWD

PHQDULN�EDJL�VLVZD�DJDU�VLVZD�WHUPRWLYDVL�XQWXN�EHODMDU��6DODK�VDWX�PRGHO�

SHPEHODMDUDQ� \DQJ� GDSDW� GLJXQDNDQ� DGDODK� PRGHO� LQWHJUDVL� WHRUL� EHODMDU�

NRJQLWLYLVPH�GDQ�NRQVWUXNWLYLVPH�

�� 'DODP�SHQHOLWLDQ� LQL�PHPDNDL�YDULDEOH� WHULNDW�NHPDPSXDQ�EHUSLNLU�NULWLV�

PDND SHQHOLWL�VHODQMXWQ\D�GLVDUDQNDQ�XQWXN�PHQJJXQDNDQ�YDULDEOH� WHULNDW�

\DQJ�ODLQ�

�� %HUGDVDUNDQ�KDVLO�ZDZDQFDUD�VLVZD�PHPLOLNL�NHQGDOD�SHULKDO�NHSHUFD\DDQ�

GLUL� VLVZD�� GLUHNRPHQGDVLNDQ� XQWXN� PHQHOLWL� OHELK� ODQMXW� PHQJHQDL KDO�

WHUVHEXW�


